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Tying public and private goods

I Public TV

I Charity ball, parties for donors

I Coase and lighthouses
I Kickstarter

I Web Fonts
I YouTube channel

I Micropatronage, crowd funding
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Example of a Kickstarter project
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Kickstarter inducements
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Notation

I gi = contribution by person i

I G =
∑

i gi = total contributions

I Ui (xi ,G , gi ) = utility depends on private consumption, public
good, donor’s contribution (which determines private gift
according to size)

I Same as Andreoni’s “warm glow”

I But in many cases gifts are discrete: there is a threshold for
the “glow”
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“Hot or not” model

I Discrete model is of interest due to Bagnoli-Lipman and
provision point mechanisms

I Contributions summing to threshold can be a Nash equilibrium

I Obviously equilibrium not unique

I However, it is not a Nash equilibrium for sums to exceed
threshold

I What about Kickstarter?
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Hot or not model with 2 agents

ui = value of public good to agent i

ri = value of private good to agent i

gi = contribution of agent i

G = g1 + g2 = total contributions

Ḡ = threshold for total contributions to public good

ḡi = threshold for contribution to receive gift
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Payoff to agent 2

v2 =


u2 + r2 − g2 if g1 + g2 ≥ Ḡ and g2 ≥ ḡ2

u2 − g2 if g1 + g2 ≥ Ḡ and g2 < ḡ2

0 if g1 + g2 < Ḡ
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Classical case: no private gift

Direct utility of agent 2 is

max{u2 − g2, 0} (1)

Since g1 + g2 = Ḡ , indirect utility of agent 2 is

v2(g1) = max{u2 − Ḡ + g1, 0} (2)

Agent 2 is indifferent between contributing or not at

ĝ1 = Ḡ − u2.

Reaction function for agent 2:

g2(g1) =

{
Ḡ − g1 if g1 ≥ ĝ1 = Ḡ − u2

0 otherwise
(3)
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Classical Nash equilibrium
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Hot or not model

v2(g1) =


u2 + r2 − g2 if g1 + g2 ≥ Ḡ and g2 ≥ ḡ2

u2 − g2 if g1 + g2 ≥ Ḡ and g2 < ḡ2

0 if g1 + g2 < Ḡ

(4)

Assumption 1. It is efficient to jointly fund the public good:
u1 + u2 > G but u1 < G and u2 < G .
Assumption 2. Threshold for private gift is small. ui + ri > ḡi for
i = 1, 2.

Now agent 2 just begins to contribute when ĝ1 = Ḡ − u2 − r2,
which by assumption is sufficient to trigger the private gift. Region
of contribution is larger.
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Reaction function for agent 2

g2(g1) =


0 if g1 < ĝ1

Ḡ − g1 if Ḡ − ḡ2 ≥ g1 ≥ ĝ1

ḡ2 if g1 > Ḡ − ḡ2

(5)
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Case 1. Public equilibria
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Case 2. Partially private equilibrium
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Case 3. Fully private equilibrium
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Conclusion

I Adding private gift may enlarge the set of equilibria (fully
public)

I Adding private gift may contract the set of equilibria (other
cases)

I May yield a purely private equilibrium with total contributions
greater that Ḡ .

I The more players the larger the contributions due to private
gifts

I Contributions to receive private gift may be adequate to fund
public good
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